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School of Information Technology and Engineering
CEG 4188: Higher Layer Network Protocols, autumn 2010
Assignment 2 : Various Questions
November 10, 2010
Question 1: A company providing video on demand has 10000 clients in a given geographical area. The company has noticed that most films are requested during the evening; half of the films of a day are being viewed at around 20:00. Supposing that each client views on average 6 films per month, please answer the following questions:

(a) What bandwidth is required for the connection of the video-on-demand server to the network ? – Assume that films of DVD quality are viewed which require a bandwidth of 4.7 Mbps each.

(b) The same, now assuming that HDTV quality films are viewed, requiring a bandwidth of 9.8 Mbps each.

(c) In case (a), how much should the company charge its clients per month in order to cover the cost of the communication link between the server and the network, if the costs of the link is 3000$ per month for a bandwidth of 1 Gbps and 1000$ for each additional Gbps of capacity. 
Question 2: A server provides music on-line in MP3 format at a bit rate of 128Kbps. Let us assume that the clients are on average at some distance from the server, such that the propagation delay from the server to the client is on average of the order of 0.3 seconds. What is the required size of the receive buffer (at the client) in order to be able to compensate for a temporary delay variation up to a propagation delay of 1.0 seconds ?








